Pre and post-assessment 2S UCD Summer 2018

If the bacteria are resistant to a sanitizer, then we need a

If the thickness of a biofilm increases, the sanitation time to achieve the same level of bacterial
killing:

In a food processing facilities, for sanitization purposes, a 3-log reduction is required. Which
percent below is equivalent to a 3-log reduction?

For a given sanitation time, which biofilm will get the greatest bacterial killing?

With increasing incubation time, the penetration of chlorine in a biofilm:

Bacteria in a biofilm are embedded in a matrix, while planktonic bacteria are not associated
with a matrix. An oxidizing sanitizer will likely kill

What factor will influence the disinfection of biofilm?

What factor affects killing of biofilm bacteria in a food processing facility?

Biofilms are a common mode of bacterial growth in nature and their presence has an
enormous impact on many aspects of our lives, such as:
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